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EXERCISE # 1
Q.1 (a)  
  (i) 62 (ii) 24 (iii) 83 

 (iv) 113 (v) 74

 (b)  

  (i) 35 (ii) (–7)9 (iii) 182

Q.2  : 
  (i) 8 × 8 × 8 × 8 (ii) b × b 
  (iii) 6 × 6 × 9 × 9 × 9 (iv) x × x × x × y 
  (v) 5 × 5 × x × x  
  (vi) x × x × x × x × y × y × z 

Q.3

 ? 

  (i) 53  35  (ii) 63  36 

  (iii) 48  84 (iv) 10003  31000

  (v) 310  103 (vi) 26  62

Q.4

 : 
  (i) 81   (ii) 15625 
  (iii) 1000000 (iv) 65536 
  (v) 16807 

Q.5

 : 
  (i) 324 (ii) 7200 (iii) 810 (iv) 540 

Q.6  : 
  (i) 3 × 102  (ii) 83 × 23

  (iii) 33 × 4  (iv) 4 × 54

  (v) 0 × 103  (vi) 32 × 53

  (vii) 34 × 42  (viii) 42 × 104

Q.7  : 
  (i) (–5)3  (ii) (–2) × (–3)5

  (iii) (–2)2 × (–4)2 (iv) (–4)3 × (–10)5 

Q.8  : 
  (i) 8.9 × 109; 9.8 × 107

  (ii) 5 × 104, 3 × 106

  (iii) 16 × 1016, 3 × 103

  (iv) 6 × 1016, 7 × 1017

Q.9

 : 
  (i) 53 × 55 × 59 (ii) 1117 ÷ 1115

  (iii) 9x × 94  (iv) (62)3 ÷ 65

  (v) 35 × 65  (vi) (414 ÷ 411) × 25

Q.10

 : 
  (i) 100 × 1010 = 10012  (ii) 39 × 48 = 1217

  (iii) 50 = (2000)0 (iv) 53 > 35

Q.11

 :                      
  (i) 289 × 324 (ii) 216 × 125 
  (iii) 2187 × 49 (iv) 1331 × 144 
  (v) 169 × 343 (vi) 225 × 3 × 5 

Q.12  :  

  (i) 22

44

2712
80915


  (ii) 2

343

x2
x6x4




  (iii) 
154

523 22


   (iv) (60 + 70 + 80) ÷ 3 

  (v) 0

000

)720(
1098    (vi) (35 × 32)2

  (vii) 42

6

77
)100(7


 

 (viii) 24

42

)32()34(
1238




  (ix) 3

6

xt
t  × t2 × x2 (x) [(93)2 × 96] ÷ 910 
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Q.13  : 
  (i) 398505  (ii) 9087183 
  (iii) 3708267 (iv) 230423 
  (v) 86003  (vi) 390868 

Q.14

 : 
  (i) 9 × 105 + 8 × 104 + 7 × 103 + 6 × 102

     + 3 × 101 + 2 × 100

  (ii)  6 × 104 + 7 × 103 +  8 × 102 + 5 × 100

  (iii) 4 × 104 + 8 × 102 + 6 × 100 

(iv)  7 × 106 + 6 × 103 + 3 × 102 + 4 × 101

Q.15 : 
  (i) 7,00,00,000 (ii) 8,00,00,000 
  (iii) 47,89,00,000 (iv) 480,767 
  (v) 48096.9  (vi) 9807.86 

Q.16

 : 

  (i)  A  B 

487,000,000,000 m 

  (ii)  62,30,000 mm 

  (iii)  80000.00 m/hr 

  (iv) 100,000,000,000,000 

  (v)  12,000,000,000 

  (vi)  3,083,000,000 
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ANSWER KEY 
1. (a)  (i) 36  (ii) 16  (iii) 512  (iv) 1331 (v) 2401 

 (b) (i)  = 3,  = 5  (ii)  = (–7),  = 9  

  (iii)  = 18,  = 2 

2. (i) 84  (ii) b2 (iii) 62 × 93 = 22 × 38 (iv) x3 × y  (v) 52 × x2 = (5x)2  (vi) x4y2z 

3. (i) 53 (ii) 63  (iii) 84  (iv) 10003 (v) 103  (vi) 62

4. (i) 34 (ii) 56 (iii) 106  (iv) 216  (v) 75

5. (i) 22 × 34 (ii) 25 × 32 × 52   (iii) 2 × 34 × 5 (iv) 22 × 33 × 5 

6. (i) 300 (ii) 4096 (iii) 108      (iv) 2500 (v) 0 (vi) 1125 (vii) 1296 (viii) 160000 

7. (i) –125 (ii) 486  (iii) 64  (iv) 6400000 

8. (i) 8.9 × 109 > 9.8 × 107 (ii) 3 × 106 > 5 × 104 (iii) 16 × 1016 > 3 × 103 (iv) 7 × 1017 > 6 × 1016

9. (i) 517 (ii) 112  (iii) 9x+4  (iv) 6 (v) 310 × 25 (vi) 211

10. (i)   (ii)   (iii)   (iv) 

11. (i) (17 × 2)2 × 34 (ii) 63 × 53 (iii) 37 × 72 (iv) 113 × 24 × 32  (v) 132 × 73 (vi) 33 × 53

12. (i) 253125 (ii) 192x5 (iii) 5 (iv) 1 (v) 1 (vi) 314 (vii) 1   (viii) 2  (ix) xt5 (x) 81 

13. (i) 3 × 105 + 9 × 104 + 8 × 103 + 5 × 102 + 5 × 100  

(ii) 9 × 106 + 8 × 104 + 7 × 103 + 1 × 102 + 8 × 101 + 3 × 100

 (iii) 3 × 106 + 7 × 105 + 8 × 103 + 2 × 102 + 6 × 101 + 7 × 100

 (iv) 2 × 105 + 3 × 104 + 4 × 102 + 2 × 101 + 3 × 100  

(v) 8 × 104 + 6 × 103 + 3 × 100

 (vi) 3 × 105 + 9 × 104 + 8 × 102 + 6 × 101 + 8 × 100

14. (i) 987632 (ii) 67805 (iii) 40806 (iv) 7006340 

15. (i) 7 × 107 (ii) 8 × 107 (iii) 4.789 × 108 (iv) 4.80767 × 105  (v) 4.80969 × 104 (vi) 9.80786 × 103

16. (i) 4.87 × 1011 m (ii) 6.23 × 106 mm (iii) 8 × 104 m/hr   (iv) 1 × 1014 (v) 1.2 × 1010 yrs. 

 (vi) 3.083 × 109
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EXERCISE # 2

: 
(Q.1 Q.15)

Q.1  (10)0 + (100)0  .......... . 

Q.2  25/36  ............. 

Q.3  (3)4  ..................  

Q.4  10 × 10 × 10 × 10 × 10 .......... 

Q.5  (–6)3  .................  

Q.6  x0 ÷ y0  ............ 

Q.7  56 × 5x = 5----

Q.8  (6x)2 = 6----

Q.9  (9)3 × ........ = 98

Q.10 ......... ÷ 42 = 46

Q.11 405972 

........ 

Q.12 68790  ........ 

Q.13  'b' , 

(b)0 ............... 

Q.14 52  ............... 

Q.15  (–2)  .................. 

 (Q.16  Q.25)

Q.16  (a)m

a  m 

 Q.17

Q.18 52  " " 

Q.19 x3y2  –y2x3

Q.20 72, 27

Q.21  343 

 37

Q.22 (a)m × (a)–n  (a)m+n

Q.23 am ÷ (a)–n  (a)m+n

Q.24 (a–m)n  (a)–m+n

Q.25










9
1  1 

Q.26  A  B 

 A  B 

(i) xa × xb (a) xa–b

(ii) xa ÷ xb (b) xab

(iii) (xa)b (c) 1 
(iv) (x)0 (d) xa + b

(v) (x0)m

(vi) (xb)a

(vii) 







a

a

x
x

Q.27
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Q.28

Q.29 –27  (–3)  ? 

Q.30 16  (–2) 

Q.31  : 

  (i) 
27
1   (ii) 

64
1

  (iii) 
81
1   (iv) 

81
49

Q.32  :   

  (i) 
4

7
1






   (ii) 

3

8
2






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  (iii) 
5

9
7






   (iv) 

3

8
6






 

Q.33  : 

  (i) 
5121

511 23




  (ii) 
7310

100781
42

3




  (iii) 25

4332

ba
bbaa




  (iv) 3

437

1044
542




Q.34  : 
  (i) 4830000  (ii) 946 × 107 

  (iii) 525 × 107

Q.35  : 
  (i) 4.85 × 107 (ii) 7.49 × 105

  (iii) 3.5 × 106

Q.36 K × 10n

 K 

1 < K < 10  n  : 
  (i) 30560000 (ii) 847300000 
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ANSWER KEY 

1. 2   2. 
2

6
5






 3. 81  4. (10)5 5. (–216) 6. 1  7. 6 + x  

8. 62x  9. 95 10. 48 11. 4 × 105 + 5 × 103 + 9 × 102  + 7 × 101 + 2 × 100  

12. 6.8 × 104 13. 1  14. 15. (–2)4 16. T  17. F  18. F  

19. T  20. F  21. F  22. F  23. T  24. F  25. T  

26. (i) d  (ii) a  (iii) b  (iv) c  (v) c  (vi) b  (vii) c

27. 12 = 1; 22 = 4; 32 = 9; 42 = 16; 52 = 25; 62 36; 72 = 49; 82 = 64;  92 = 81;  102 = 100 

28. 13 = 1; 23 = 8; 33 = 27; 43 = 64; 53 = 125; 63 = 216; 73 = 343; 83 = 512;  93 = 729;  103 = 1000

29. (–3)3 = –27   30. (–2)4 = 16  

31. (i) 
3
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
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1
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
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32. (i) 
2401

1  (ii) 
512
8  (iii) 

59049
16807  (iv) 

512
216

33. (i) 55 (ii) 49  (iii) b5  (iv) 320 

34. (i) 4.83 × 106 (ii) 9.46 × 109 (iii) 5.25 × 109

35. (i) 48500000 (ii) 749000 (iii) 3500000 

36. (i) 3.056 × 107  (ii) 8.473 × 108




